


 

𝑁𝐻𝐴
𝐴𝐴



 

𝑬𝑺𝑷𝒎𝒆𝒂𝒏
𝑯𝒆𝒕 𝑬𝑺𝑷𝒓𝒂𝒏𝒈𝒆

𝑯𝒆𝒕 𝑬𝑺𝑷𝒎𝒂𝒙
𝑯𝒆𝒕 𝑬𝒊𝒏𝒕

𝑷𝒉𝒆 𝑬𝒊𝒏𝒕
𝑻𝒚𝒓

𝑬𝒊𝒏𝒕
𝑻𝒓𝒑 𝑬𝑺𝑷𝒎𝒆𝒂𝒏

𝑯𝒆𝒕 𝑬𝑺𝑷𝒓𝒂𝒏𝒈𝒆
𝑯𝒆𝒕 𝑬𝑺𝑷𝒎𝒂𝒙

𝑯𝒆𝒕 𝑬𝒊𝒏𝒕
𝑷𝒉𝒆 𝑬𝒊𝒏𝒕

𝑻𝒚𝒓
𝑬𝒊𝒏𝒕

𝑻𝒓𝒑



 

∆𝐸𝑝𝑟𝑒𝑑 = 𝑁𝐻𝐴
𝐴𝐴(−0.036𝐸𝑆𝑃𝑚𝑒𝑎𝑛

𝐻𝑒𝑡 − 0.013𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡

− 0.095𝑁𝐻𝐴
𝐻𝑒𝑡) − 1.36

∆𝐸𝑝𝑟𝑒𝑑 = 𝑁𝐻𝐴
𝐴𝐴(−0.032𝐸𝑆𝑃𝑚𝑎𝑥

𝐻𝑒𝑡 − 0.087𝑁𝐻𝐴
𝐻𝑒𝑡) − 1.46

𝑁𝐻𝐴
𝐴𝐴 𝑁𝐻𝐴

𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥

𝐻𝑒𝑡  

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥

𝐻𝑒𝑡 𝐸𝑆𝑃𝜎
𝐻𝑒𝑡

𝐹𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑎𝑥
𝐻𝑒𝑡 𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒

𝐻𝑒𝑡 𝐸𝑆𝑃𝜎
𝐻𝑒𝑡 𝐹𝑚𝑒𝑎𝑛

𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡 𝑁𝐻𝐴

𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡 𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒

𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑎𝑥
𝐻𝑒𝑡



 

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑒𝑎𝑛

𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥
𝐻𝑒𝑡

𝑁𝐻𝐴
𝐴𝐴

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡 𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒

𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥
𝐻𝑒𝑡 𝑁𝐻𝐴

𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑎𝑥
𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥

𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝑁𝐻𝐴
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥

𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡 𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒

𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡 ±

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡



 

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥

𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥

𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥

𝐻𝑒𝑡 𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥

𝐻𝑒𝑡

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑎𝑥
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑒𝑎𝑛

𝐻𝑒𝑡 , 

𝐸𝑆𝑃𝑚𝑒𝑎𝑛
𝐻𝑒𝑡 𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒

𝐻𝑒𝑡

𝐸𝑆𝑃𝑚𝑎𝑥
𝐻𝑒𝑡

 

 

𝐸𝑆𝑃𝑟𝑎𝑛𝑔𝑒
𝐻𝑒𝑡 𝐸𝑆𝑃𝑚𝑎𝑥

𝐻𝑒𝑡
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